



Price Analysis
Solicitation No.: GEN2128489B1-02-01
Solicitation Title: Interpretation and Translation Services
Using Agency: Broward Addiction Recovery Center
Purchasing Agent: Freddy Pinal
Date Bid Posted: June 4, 2024
Date Bid Opened: July 5, 2024
Bid Submittals: 15 Bids, 9 Partial Bids
Decimals: 0

GROUP 2 - In-Person Interpreting			Previous Pricing State of Florida 90121702-30-ACS		TransPerfect Translations International		GLOBO Language Solutions, LLC		Certified Spanish Language, LLC		Datalyt, LLC		Fox Translation Services	
Item No.	Description	Qty	UOM	Price	Total	% Diff to Current Contract	Price	Total	Price	Total	Price	Total	Price	Total
GEN2128489B1-02-01	In-Person Interpreting: Tier 1 Languages	9000	Per Minute	\$3.17	\$285,300.00	N/A	\$65.00	\$585,000.00	No bid	N/A	No bid	N/A	No bid	N/A
GEN2128489B1-02-02	In-Person Interpreting: Tier 2 Languages	8,000	Per Minute	\$3.50	\$28,000.00	N/A	\$80.00	\$640,000.00	No bid	N/A	No bid	N/A	No bid	N/A
GEN2128489B1-02-03	In-Person Interpreting: Tier 3 Languages	6,000	Per Minute	\$3.83	\$22,980.00	N/A	\$80.00	\$480,000.00	No bid	N/A	No bid	N/A	No bid	N/A
GEN2128489B1-02-04	In-Person Interpreting: Tier 4 Languages	6,000	Per Minute	\$4.17	\$25,020.00	N/A	\$80.00	\$480,000.00	No bid	N/A	No bid	N/A	No bid	N/A
GEN2128489B1-02-05	Emergency In-Person Interpreting Fee	10	Each	\$100.00	\$1,000.00	N/A	\$20.00	\$200.00	No bid	N/A	No bid	N/A	No bid	N/A
				\$482,300.00			\$7,480,200.00			\$0.00		\$0.00		\$0.00

GROUP 2 - In-Person Interpreting			Previous Pricing State of Florida 90121702-30-ACS		Language Training Center, Inc		MGM Linguistic Solutions, LLC		Powering		SignTak, LLC		Term Translations	
Item No.	Description	Qty	UOM	Price	Total	% Diff to Current Contract	Price	Total	Price	Total	Price	Total	Price	Total
GEN2128489B1-02-01	In-Person Interpreting: Tier 1 Languages	9000	Per Minute	No bid	N/A	N/A	No bid	N/A	No bid	N/A	No bid	N/A	No bid	N/A
GEN2128489B1-02-02	In-Person Interpreting: Tier 2 Languages	8,000	Per Minute	No bid	N/A	N/A	No bid	N/A	No bid	N/A	No bid	N/A	No bid	N/A
GEN2128489B1-02-03	In-Person Interpreting: Tier 3 Languages	6,000	Per Minute	No bid	N/A	N/A	No bid	N/A	No bid	N/A	No bid	N/A	No bid	N/A
GEN2128489B1-02-04	In-Person Interpreting: Tier 4 Languages	6,000	Per Minute	No bid	N/A	N/A	No bid	N/A	No bid	N/A	No bid	N/A	No bid	N/A
GEN2128489B1-02-05	Emergency In-Person Interpreting Fee	10	Each	No bid	N/A	N/A	No bid	N/A	No bid	N/A	No bid	N/A	No bid	N/A
				\$0.00			\$0.00			\$0.00		\$0.00		\$0.00

GROUP 2 - In-Person Interpreting	Initial Two-Year Award Amount:	Potential Five (5) Year Award Amount:
Primary Vendor: Craig Enterprises, Inc dba CommGp	\$ 236,037.00	\$ 990,092.50
Secondary Vendor: Homeland Language Services, LLC	\$ 245,846.00	\$ 695,600.00
	\$ 478,677.00	\$ 1,186,692.50

GROUP 3 - Document Translation			Previous Pricing State of Florida 90121702-30-ACS		IU, LLC		MGM Linguistic Solutions, LLC		Powering		Datalyt, LLC		Complete Contract Consulting	
Item No.	Description	Qty	UOM	Price	Total	% Diff to Current Contract	Price	Total	Price	Total	Price	Total	Price	Total
GEN2128489B1-02-01	Document Translation: Tier 1 Languages	3000	EA	\$0.12	\$360.00	-8%	\$0.15	\$450.00	\$0.14	\$420.00	\$0.14	\$420.00	\$0.32	\$960.00
GEN2128489B1-02-02	Document Translation: Tier 2 Languages	1000	EA	\$0.21	\$210.00	-4%	\$0.19	\$190.00	\$0.18	\$180.00	\$0.15	\$150.00	\$0.32	\$320.00
GEN2128489B1-02-03	Document Translation: Tier 3 Languages	5000	EA	\$0.16	\$800.00	-3%	\$0.19	\$950.00	\$0.20	\$1,000.00	\$0.15	\$750.00	\$0.32	\$1,600.00
GEN2128489B1-02-04	Document Translation: Tier 4 Languages	5000	EA	\$0.28	\$1,400.00	-5%	\$0.19	\$950.00	\$0.22	\$1,100.00	\$0.16	\$750.00	\$0.32	\$1,600.00
GEN2128489B1-02-05	Document Translation: Video Translation	2500	EA			N/A	\$0.19	\$475.00	\$0.18	\$450.00	\$0.20	\$500.00	\$0.32	\$800.00
GEN2128489B1-02-06	Document Translation: Audio Translation	2500	EA			N/A	\$0.19	\$475.00	\$0.18	\$450.00	\$0.20	\$500.00	\$0.32	\$800.00
GEN2128489B1-02-07	Reformatting of Translated Documents	10	EA			N/A	\$50.00	\$500.00	\$40.00	\$400.00	\$150.00	\$1,500.00	\$540.00	\$5,400.00
GEN2128489B1-02-08	Run/Exported Translation and Formatting	10	EA			N/A	\$50.00	\$500.00	\$45.00	\$450.00	\$75.00	\$750.00	\$540.00	\$5,400.00
GEN2128489B1-02-09	Audio Recording	600	EA	\$7.00	\$4,200.00	N/A	\$2.50	\$1,500.00	\$55.00	\$27,000.00	\$30.00	\$18,000.00	\$0.32	\$192.00
GEN2128489B1-02-10	Run/Exported Audio Recording	10	EA	\$90.00	\$900.00	N/A	\$2.50	\$25.00	\$40.00	\$400.00	\$500.00	\$5,000.00	\$540.00	\$5,400.00
				\$16,800.00			\$20,325.00			\$39,300.00		\$42,330.00		\$48,392.00

Primary Secondary



Price Analysis
 GENZ128489B1-05-01
 Solicitation No.: Interpretation and Translation Services
 Date Bid Opened: July 5, 2024
 Bid Submittals: 15 Bids, 9 Partial Bids
 Purchasing Agent: Freddy Pizarra
 Decimals: 0

GROUP 3 - Document Translation				Previous Pricing State of Florida Contract No. 901217022-0-ACS		% Diff to Current Contract	
Item No.	Description	Qty	UOM	Price	Total	Price	Total
GENZ128489B1-05-01	Document Translation: Tier 1 Languages	30000	EA	\$0.12	\$3,600.00	\$0.08	\$2,400.00
GENZ128489B1-05-02	Document Translation: Tier 2 Languages	10000	EA	\$0.15	\$1,500.00	\$0.12	\$1,200.00
GENZ128489B1-05-03	Document Translation: Tier 3 Languages	5000	EA	\$0.17	\$850.00	\$0.14	\$700.00
GENZ128489B1-05-04	Document Translation: Tier 4 Languages	5000	EA	\$0.17	\$850.00	\$0.15	\$750.00
GENZ128489B1-05-05	Document Translation: Video Translation	25000	EA	\$0.17	\$4,250.00	\$2.99	\$74,750.00
GENZ128489B1-05-06	Document Translation: Audio Translation	25000	EA	\$0.17	\$4,250.00	\$1.50	\$37,500.00
GENZ128489B1-05-07	Reformatting of Translated Documents	10	EA	\$40.00	\$400.00	\$40.00	\$400.00
GENZ128489B1-05-08	Revised/Expedited Translation and Formatting	10	EA	\$20.00	\$200.00	\$50.00	\$500.00
GENZ128489B1-05-09	Audio Recording	600	EA	\$85.00	\$51,000.00	\$0.98	\$588.00
GENZ128489B1-05-10	Revised/Expedited Audio Recording	10	EA	\$102.00	\$1,020.00	\$30.00	\$300.00
				\$ 87,520.00		\$118,988.00	

GROUP 3 - Document Translation				Previous Pricing State of Florida Contract No. 901217022-0-ACS		% Diff to Current Contract	
Item No.	Description	Qty	UOM	Price	Total	Price	Total
GENZ128489B1-05-01	Document Translation: Tier 1 Languages	30000	EA	\$0.12	\$3,600.00	\$0.20	\$6,000.00
GENZ128489B1-05-02	Document Translation: Tier 2 Languages	10000	EA	\$0.26	\$2,600.00	\$0.30	\$3,000.00
GENZ128489B1-05-03	Document Translation: Tier 3 Languages	5000	EA	\$0.24	\$1,200.00	\$0.40	\$2,000.00
GENZ128489B1-05-04	Document Translation: Tier 4 Languages	5000	EA	\$0.26	\$1,300.00	\$0.50	\$2,500.00
GENZ128489B1-05-05	Document Translation: Video Translation	25000	EA	\$75.00	\$1,875,000.00	\$95.00	\$2,375,000.00
GENZ128489B1-05-06	Document Translation: Audio Translation	25000	EA	\$75.00	\$1,875,000.00	\$65.00	\$1,625,000.00
GENZ128489B1-05-07	Reformatting of Translated Documents	10	EA	\$75.00	\$750.00	\$25.00	\$250.00
GENZ128489B1-05-08	Revised/Expedited Translation and Formatting	10	EA	\$25.00	\$250.00	\$30.00	\$300.00
GENZ128489B1-05-09	Audio Recording	600	EA	\$75.00	\$45,000.00	\$1.90	\$960.00
GENZ128489B1-05-10	Revised/Expedited Audio Recording	10	EA	\$25.00	\$250.00	\$120.00	\$1,200.00
				\$ 3,972,850.00		\$4,768,210.00	

GROUP 3 - Document Translation				Previous Pricing State of Florida Contract No. 901217022-0-ACS		% Diff to Current Contract	
Item No.	Description	Qty	UOM	Price	Total	Price	Total
GENZ128489B1-05-01	Document Translation: Tier 1 Languages	30000	EA	\$0.18	\$5,400.00	\$0.18	\$5,400.00
GENZ128489B1-05-02	Document Translation: Tier 2 Languages	10000	EA	\$0.26	\$2,600.00	\$0.26	\$2,600.00
GENZ128489B1-05-03	Document Translation: Tier 3 Languages	5000	EA	\$0.26	\$1,300.00	\$0.26	\$1,300.00
GENZ128489B1-05-04	Document Translation: Tier 4 Languages	5000	EA	\$0.28	\$1,400.00	\$0.28	\$1,400.00
GENZ128489B1-05-05	Document Translation: Video Translation	25000	EA	\$14.00	\$350,000.00	\$14.00	\$350,000.00
GENZ128489B1-05-06	Document Translation: Audio Translation	25000	EA	\$12.00	\$300,000.00	\$12.00	\$300,000.00
GENZ128489B1-05-07	Reformatting of Translated Documents	10	EA	\$8.00	\$80.00	\$8.00	\$80.00
GENZ128489B1-05-08	Revised/Expedited Translation and Formatting	10	EA	\$10.00	\$100.00	\$10.00	\$100.00
GENZ128489B1-05-09	Audio Recording	600	EA	\$25.00	\$15,000.00	\$25.00	\$15,000.00
GENZ128489B1-05-10	Revised/Expedited Audio Recording	10	EA	\$31.25	\$312.50	\$31.25	\$312.50
				\$676,192.50		\$676,192.50	

GROUP 3 - Document Translation				Previous Pricing State of Florida Contract No. 901217022-0-ACS		% Diff to Current Contract	
Item No.	Description	Qty	UOM	Price	Total	Price	Total
GENZ128489B1-05-01	Document Translation: Tier 1 Languages	30000	EA	No Bid	N/A	No Bid	N/A
GENZ128489B1-05-02	Document Translation: Tier 2 Languages	10000	EA	No Bid	N/A	No Bid	N/A
GENZ128489B1-05-03	Document Translation: Tier 3 Languages	5000	EA	No Bid	N/A	No Bid	N/A
GENZ128489B1-05-04	Document Translation: Tier 4 Languages	5000	EA	No Bid	N/A	No Bid	N/A
GENZ128489B1-05-05	Document Translation: Video Translation	25000	EA	No Bid	N/A	No Bid	N/A
GENZ128489B1-05-06	Document Translation: Audio Translation	25000	EA	No Bid	N/A	No Bid	N/A
GENZ128489B1-05-07	Reformatting of Translated Documents	10	EA	No Bid	N/A	No Bid	N/A
GENZ128489B1-05-08	Revised/Expedited Translation and Formatting	10	EA	No Bid	N/A	No Bid	N/A
GENZ128489B1-05-09	Audio Recording	600	EA	No Bid	N/A	No Bid	N/A
GENZ128489B1-05-10	Revised/Expedited Audio Recording	10	EA	No Bid	N/A	No Bid	N/A
				\$0.00		\$0.00	

Item No.	Description	Qty	UOM	Price	Total	% Diff to Current Contract
GENZ128489B1-05-01	Document Translation: Tier 1 Languages	30000	EA	\$0.12	\$3,600.00	67%
GENZ128489B1-05-02	Document Translation: Tier 2 Languages	10000	EA	\$0.21	\$2,100.00	24%
GENZ128489B1-05-03	Document Translation: Tier 3 Languages	5000	EA	\$0.18	\$900.00	33%
GENZ128489B1-05-04	Document Translation: Tier 4 Languages	5000	EA	\$0.26	\$1,300.00	0%
GENZ128489B1-05-05	Document Translation: Video Translation	25000	EA	\$75.00	\$1,875,000.00	N/A
GENZ128489B1-05-06	Document Translation: Audio Translation	25000	EA	\$75.00	\$1,875,000.00	N/A
GENZ128489B1-05-07	Reformatting of Translated Documents	10	EA	\$75.00	\$750.00	N/A
GENZ128489B1-05-08	Revised/Expedited Translation and Formatting	10	EA	\$25.00	\$250.00	N/A
GENZ128489B1-05-09	Audio Recording	600	EA	\$75.00	\$45,000.00	N/A
GENZ128489B1-05-10	Revised/Expedited Audio Recording	10	EA	\$25.00	\$250.00	N/A
				\$3,972,850.00		\$4,768,210.00

GROUP 3 - Document Translation				Previous Pricing State of Florida Contract No. 901217022-0-ACS		% Diff to Current Contract	
Item No.	Description	Qty	UOM	Price	Total	Price	Total
GENZ128489B1-05-01	Document Translation: Tier 1 Languages	30000	EA	\$0.12	\$3,600.00	\$0.12	\$3,600.00
GENZ128489B1-05-02	Document Translation: Tier 2 Languages	10000	EA	\$0.21	\$2,100.00	\$0.18	\$1,800.00
GENZ128489B1-05-03	Document Translation: Tier 3 Languages	5000	EA	\$0.18	\$900.00	\$0.15	\$750.00
GENZ128489B1-05-04	Document Translation: Tier 4 Languages	5000	EA	\$0.26	\$1,300.00	\$0.22	\$1,100.00
GENZ128489B1-05-05	Document Translation: Video Translation	25000	EA	\$14.00	\$350,000.00	\$14.00	\$350,000.00
GENZ128489B1-05-06	Document Translation: Audio Translation	25000	EA	\$12.00	\$300,000.00	\$12.00	\$300,000.00
GENZ128489B1-05-07	Reformatting of Translated Documents	10	EA	\$8.00	\$80.00	\$8.00	\$80.00
GENZ128489B1-05-08	Revised/Expedited Translation and Formatting	10	EA	\$10.00	\$100.00	\$10.00	\$100.00
GENZ128489B1-05-09	Audio Recording	600	EA	\$25.00	\$15,000.00	\$25.00	\$15,000.00
GENZ128489B1-05-10	Revised/Expedited Audio Recording	10	EA	\$31.25	\$312.50	\$31.25	\$312.50
				\$676,192.50		\$676,192.50	

Item No.	Description	Qty	UOM	Price	Total	% Diff to Current Contract
GENZ128489B1-05-01	Document Translation: Tier 1 Languages	30000	EA	\$0.12	\$3,600.00	67%
GENZ128489B1-05-02	Document Translation: Tier 2 Languages	10000	EA	\$0.21	\$2,100.00	24%
GENZ128489B1-05-03	Document Translation: Tier 3 Languages	5000	EA	\$0.18	\$900.00	33%
GENZ128489B1-05-04	Document Translation: Tier 4 Languages	5000	EA	\$0.26	\$1,300.00	0%
GENZ128489B1-05-05	Document Translation: Video Translation	25000	EA	\$75.00	\$1,875,000.00	N/A
GENZ128489B1-05-06	Document Translation: Audio Translation	25000	EA	\$75.00	\$1,875,000.00	N/A
GENZ128489B1-05-07	Reformatting of Translated Documents	10	EA	\$75.00	\$750.00	N/A
GENZ128489B1-05-08	Revised/Expedited Translation and Formatting	10	EA	\$25.00	\$250.00	N/A
GENZ128489B1-05-09	Audio Recording	600	EA	\$75.00	\$45,000.00	N/A
GENZ128489B1-05-10	Revised/Expedited Audio Recording	10	EA	\$25.00	\$250.00	N/A
				\$3,972,850.00		\$4,768,210.00



Price Analysis
 GEN128489B1-04-01
 Solicitation No.:
 Interpretation and Translation Services
 Broward Addiction Recovery Center
 Purchasing Agent:
 Freddy Pinal
 Date Bid Posted: June 4, 2024
 Date Bid Opened: July 5, 2024
 Bid Submittals: 15 Bids, 9 Partial Bids
 Delinquents: 0

GROUP 4 - Interpreting for the Deaf										
Item No.	Description	Qty	UOM	Previous Pricing State of Florida Contract No. 80121702-2-0A-C5	% Diff to Current Contract		% Diff to Current Contract		% Diff to Current Contract	
					Price	Total	Price	Total	Price	Total
GEN128489B1-04-01	Interpreting for the Deaf, Tier 1 Languages	12000	Per minute	Line item not included in the current contract						
GEN128489B1-04-02	Interpreting for the Deaf, Tier 2 Languages	3000	Per minute	Line item not included in the current contract	\$1,42	\$17,040.00	N/A	N/A	\$2.16	\$25,920.00
GEN128489B1-04-03	Interpreting for the Deaf, Tier 3 Languages	1800	Per minute	Line item not included in the current contract	\$1,42	\$4,260.00	N/A	N/A	\$2.60	\$7,800.00
GEN128489B1-04-04	Interpreting for the Deaf, Tier 4 Languages	1800	Per minute	Line item not included in the current contract	\$1,42	\$2,568.00	N/A	N/A	\$2.60	\$4,680.00
GEN128489B1-04-05	Interpreting for the Deaf Emergency In-Person Interpreting for the Deaf (NIC) Fee	10	EA	Line item not included in the current contract	\$200.00	\$2,000.00	N/A	N/A	No Bid	\$26.00
GEN128489B1-04-06	Interpreting for the Deaf, Tier 1 - FRID OA3	4800	Per minute	Line item not included in the current contract	\$1.08	\$5,184.00	N/A	N/A	\$2.60	\$12,480.00
GEN128489B1-04-07	Interpreting for the Deaf, Tier 2 - FRID OA3	2400	Per minute	Line item not included in the current contract	\$1.08	\$2,592.00	N/A	N/A	\$2.60	\$6,240.00
GEN128489B1-04-08	Interpreting for the Deaf, Tier 3 - FRID OA3	1200	Per minute	Line item not included in the current contract	\$1.08	\$1,296.00	N/A	N/A	\$2.60	\$3,120.00
GEN128489B1-04-09	Interpreting for the Deaf, Tier 4 - FRID OA3	1200	Per minute	Line item not included in the current contract	\$1.08	\$1,296.00	N/A	N/A	\$2.60	\$3,120.00
					*Primary		*Secondary			
					\$38,700.00	\$51,830.00			\$65,100.00	\$89,268.00

GROUP 4 - Interpreting for the Deaf										
Item No.	Description	Qty	UOM	Previous Pricing State of Florida Contract No. 80121702-2-0A-C5	% Diff to Current Contract		% Diff to Current Contract		% Diff to Current Contract	
					Price	Total	Price	Total	Price	Total
GEN128489B1-04-01	Interpreting for the Deaf, Tier 1 Languages	12000	Per minute	Line item not included in the current contract						
GEN128489B1-04-02	Interpreting for the Deaf, Tier 2 Languages	3000	Per minute	Line item not included in the current contract	\$2.50	\$7,500.00	N/A	N/A	No Bid	N/A
GEN128489B1-04-03	Interpreting for the Deaf, Tier 3 Languages	1800	Per minute	Line item not included in the current contract	\$2.50	\$4,500.00	N/A	N/A	No Bid	N/A
GEN128489B1-04-04	Interpreting for the Deaf, Tier 4 Languages	1800	Per minute	Line item not included in the current contract	\$2.50	\$4,500.00	N/A	N/A	No Bid	N/A
GEN128489B1-04-05	Interpreting for the Deaf Emergency In-Person Interpreting for the Deaf (NIC) Fee	10	EA	Line item not included in the current contract	\$300.00	\$3,000.00	N/A	N/A	No Bid	N/A
GEN128489B1-04-06	Interpreting for the Deaf, Tier 1 - FRID OA3	4800	Per minute	Line item not included in the current contract	\$3.00	\$14,400.00	N/A	N/A	No Bid	N/A
GEN128489B1-04-07	Interpreting for the Deaf, Tier 2 - FRID OA3	2400	Per minute	Line item not included in the current contract	\$3.00	\$7,200.00	N/A	N/A	No Bid	N/A
GEN128489B1-04-08	Interpreting for the Deaf, Tier 3 - FRID OA3	1200	Per minute	Line item not included in the current contract	\$3.00	\$3,600.00	N/A	N/A	No Bid	N/A
GEN128489B1-04-09	Interpreting for the Deaf, Tier 4 - FRID OA3	1200	Per minute	Line item not included in the current contract	\$3.00	\$3,600.00	N/A	N/A	No Bid	N/A
					\$	\$78,900.00			\$6.00	\$6,000.00

80121702-2-0A-C5

80121702-2-0A-C5

80121702-2-0A-C5

80121702-2-0A-C5

